Math 490C
Fall 2008
Quiz 5
1. Claims follow a Pareto distribution with θ = 3000 and α = 4.  You decide to discretize the distribution using a span of 200.  

A is the probability assigned to f(1000) in the discrete distribution if the Method of Rounding is used.

B is the probability assigned to f(1000) in the discrete distribution if the Method of Local Moment Matching is used with k = 1 (matching the total probability and the mean).

Calculate 100,000(B – A).

2. The number of medical insurance claims in a year is follows a Poisson distribution with a mean of 15 assuming that there is no deductible.

The claim amounts are distributed as a Weibull distribution with θ = 500 

and τ = 2.
Crone Medical Insurance Company wants to issue a policy with a deductible.  They want to establish the deductible such that the expected number of claim payments in a year is not greater than 5.

Calculate the minimum deductible that Crone must use.

